Al Of &8 AH & B Al A
20174 20 &h LB EXNFEE D
2M: EXNEE DN
M FE23 BRE(ZELXNANL/TALEAI
Sl HAFLE TAPE CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EXNZS D 1,927,123 1,065,329 861,794
= 60,000
< 8,500
Al 1,858,623
FEs BRE(FELXNEMNL/NSLEAl) 621,000 121,000 500,000
HEUEFEES TARHE 621,000 121,000 500,000
KNelBEAAE AFAG 621,000 121,000 500,000
201 Let2d] 121,000 121,000 0
01 At 22l I 4,550 4,550 0
OXclZ3EAMAE SZHEH 2L
200,000& = 23 = 104 400
OXcl3EAMAE SZ2HEX 2L
150,000& = 53 = 104 750
OXelEBAIAY DTRIE(ZeHEH 2
1,400,000& * 13| = 10H 1,400
OEXIOISEQIR DIZAA Ol4
500,000& * 13 500
OEXOIEAH&E UIALSE ¢5) &3 7Y
100,000& * 23| 200
OEXOEHEZ UALSE ZAHZEHE EYH
-2 200,000& = 43| 800
OEXOIEAHEE UALSEX 2
500,000& * 13 500
02 2324l 116,450 116,450 0
OXcIZEAMAE SWE HV SXE=
1,789,000,000& * 5/100 89,450
OEXZ2EHEAAE(KLIS) A2
500,000&  12& 6,000
O=II8AEESEHA WX H KA
300,000,000& =* 7/ 00 21,000
401 A& HIZ 2018 500,000 0 500,000
01 A& HI 496,400 0 496,400
OSUHEEANAE NEs & BRH
500,000,000& * 99.28/100 * 14! 496,400
03 A& =2 THHI 3,600 0 3,600
OZB2ZEAMNAE D& ¥ BRH
500,000,000 * 0.72/100 3,600
NEHH(FELXAML/NALZ Al 1,214,743 842,449 372,294
= 60,000
< 8,500
Al 1,146,243
INESRE ¥l 1,037,116 660,869 376,247
= 60,000
< 8,500
Al 968,616




2H EXNELD
HE: NNSN(FELNGHL/NALTA)

ool XFeel (29 a8)
(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2
EXols &2l 50,165 22,325 27,840
201 gBt24d| 28,165 22,325 5,840
01 AP 22| H| 23,590 7,750 15,840
OEXOs A Ma ROl
50& * 5= * 5,0000H 1,250
OX&E&&HA TA 2 30,0008 = 23 = 65 360
OXAOA HHEEHH =2l 500
—2A1(Aad) 500,000 ~ 1CH 500
ostesas) 22 € KX
600,000 * 2CH * 13| 1,200
OFREM(Li=Zeel) 120,000 * 48t A « 23] 960
OXE=ztd 0 2ALA SSLHHAZ2H
160,000& = 8%H 1,280
OXNEHHAMHIATE S22 HESY HMH
100& * 1,000& * 13| 100
OZ2REXNZEAFS ¢
70,000 * 6H = 73| 2,940
OX&EII=E= B= 15,000,000& = 14l 15,000
02 22244l 4,575 14,575 A 10,000
OXNHBL(RUE)ANASE B - /W SN2
150,000 * 12& 1,800
OXEINIZ2SHAAAE - S/W S K22
150,000 * 12& 1,800
OZREXNEE 2N 52 BRI
1,950 = 5024 = 103 975
207 S0 & 22,000 0 22,000
02 & AHJH Y| 22,000 0 22,000
OXNEASSAAE DEFHAAELTO|0] X
3S3t) 22,000,000 * 14! 22,000
KN EAA ZO22] 283,074 231,884 51,190
101 121 H| 18,634 8,684 9,950
04 JI2ZtHIZ22NEES 18,634 8,684 9,950
OXEZH HMAG o2
1,760 ~ 2% = 180 18,634
201 et d| 14,100 23,200 A9,100
01 AP 2t 2| H| 7,000 7,000 0
ONFMAMMTH SABT (A0) 7L
250,000 = 8BFA 2,000
OXNEEMAMETH s (Z20AHZZRZE) 2
Q! 20,000& = 308fA 600
ONHHMEH B8 B2EH 93 7Y
2,000,000& * 1HE * 13 2,000
OXNEFMAZH 2LA2tT2IEDI| ELH(44)
1,200,000 = 104 = 23] 2,400




2H EXNELD
HE: NNSN(FELNGHL/NALTA)

ool XFeel (29 a8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 7,100 16,200 29,100
OXNZESHAAMG AlAG 2L SN RXNES
100,000& * 12& 1,200
OXNESSHT2E MHAX 130,000& * 30& 3,900
OSIIN(ELAHOE) RANE I
1,000,000& * 201 * 13 2,000
308 XtXIEHHSOIA 50,340 0 50,340
10 B2 SUHUSBAHHHAS I 50,340 0 50,340
ONHEZYIEH slgnel
15,000& * 3,356& 50,340
401 Al HIZ 201 8] 200,000 200,000 0
01 A& HI 198,560 198,560 0
Fsi dEEE NS EHAY
00,000,000& = 14l * 99.28/100 198,560
03 Al S THHI 1,440 1,440 0
Ozt dFEE NS EHIAY
200,000,000 * 0.72/100 1,440
Fsd 253 HEs & NESFE 2 24,200 4,200 20,000
201 L2l 24,200 4,200 20,000
01 At 2t 2l 24,200 4,200 20,000
OXHeIa 85 o4 2038 = 35 = 30,0000H 1,800
OXNHUH g5 SAEX 7
15,000& = 102fA « 123 1,800
O0E) 2E 2 8% 9
50,000& = 2CH = 63l 600
OFRSHHEESRALEH HAFZBLSS S/W
- 20,000,000 = 14! 20,000
E2HEFA ALY 292,573 312,507 A 19,934
101 1Al 18,634 17,367 1,267
04 JI2ZtHZ22HEE = 18,634 17,367 1,267
OdsdHsm T A & &y o2
51,760& = 2% = 180¢ 18,634
201 Let24E] 72,844 27,924 44,920
01 At 221l 68,860 26,460 42,400
O =AY 8,800
—2NFLTFBANLAE A2
500,000& = 23l 1,000
—MFz=AEH S2H KA 2l
1,000,000& * 13l 1,000
—M=AEH S2H X 30,0008 » 402 1,200
—M=a2&8 E22H 23
80,000& * 6& 53] 2,400
—ASYSE NHHNE HEESZ2H SR 2
gl 500,000& * 13 500
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2H EXNELD
HE: NNSN(FELNGHL/NALTA)

chels XX 22 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
— A8 E=H 2ZY 30,000& = 104 300
—BUHE(ADERNFATSALY 75)
800,000& =« 3CH 2,400
OEZ2¥=4A EE= ME 56,300
—EB28 89 60,000& * 10004 * 13 600
~CRYEAL EHSE
1,000& = 5,00000 = 13l 5,000
—E2Y A MAE QURE
40,000 = 1,00000 = 13l 40,000
—&8X& ot XI& 800& = 10,00001 = 13l 8,000
— I E=FEANEHS 2222
90& = 10,00001 = 13l 900
—dN=2ME 222
90& = 20,00001 = 13l 1,800
OHEHSE BHAUEN S BUAANHA RO
50& * 6& = 3,0000H 900
OALE2tel oEfAd=F ESUEHE AU
90& = 10,0004 = 13l 900
OXNZEAJZ F&x=4 70,0008 » 3H * 23] 420
OZEYFAAAS &4 25
70,000& = 11H « 23| 1,540
02 =224l 3,984 1,464 2,520
OL2gF:=A XHetE 8IS
1,000 * 22J4 A& + 12& 264
OALGE FINFLZFEANAE FUHERS
70,0003 = 304 » 12& 2,520
OZHILE2H = AIZS2elAAE S/WSA
22| 100,000& * 12& 1,200
206 M= Hl 19,600 19,600 0
01 =8l 19,600 19,600 0
OE2EF=4 FHAMY 19,600
—ANEE 2HES 7¢ 1,000,000 * 23| 2,000
—ANE2 & BHAINEX ¢
650,000& * 48 2,600
—AR MY AEE ASHSEH(BHNE) 2
= 6,000& = 1,0000H 6,000
& Y2 HASYUST 2
6,000& = 1,50004 9,000
308 XIS S0 16,517 14,392 2,125
1037/ 2SoHUHe A ALS I 16,517 14,392 2,125
OIZNF2FEAN2E RRES £ 2Y 12,972
—GIS A S/W RKRE+  2,387,000& = 14! 2,387
—INFLTFEANAE 2 XA
10,585,000 * 14 10,585
OE2H =)=k &3 A Y
3,545,000& * 14 3,545

_4_




2H EXNELD
HE: NNSN(FELNGHL/NALTA)

el XX B2 (ol @)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEBI L 2CHEI 164,978 233,224 68,246
01 Al&HI 163,910 232,000 68,090
OZ=2gs S £1 2 |xze 43,200
—NA - HY T2 CREE &
450,000& = 2822t = 204 25,200
— 3 UM c2YT Iy
450,000& * 30M 13,500
—HMFE IS E X € FA22
0,000& = 50K 4,500
OdsgsE EX & KX
15,000& * 1,0009H 15,000
OE2:Y 2% HAl SA ¥ ®X2a
60,000& = 3000H 2= 18,000
OE2¥=4A XEES &X
1,000,000& * 1090 £ 10,000
OHSAEU dMF=L0tLE &X 15,710
— SEotE X 7,000,000& » 20§ & 14,000
—JHEotE &X 15,0003 * 114042 1,710
O HZF4 QHHAIE LR &= A 62,000
—ASYSE M= Ab 22,000,0008 * 14 22,000
—E2EE A=A 40,000,000& = 14 40,000
03 AlE 2 THHI 1,068 1,224 A 156
CERYFA SHHAIEE EX
1,068,000& = 14 1,068
(DN EAAIY =X 66,667 12,889 53,778
= 60,000
Al 6,667
401 AIEBI L 2 CHEI 66,667 12,889 53,778
= 60,000
Al 6,667
03 A2 2 THHI 66,667 12,889 53,778
O NEMEAN S&=+=3F 66,667,0008 * 14 66,667
= 60,000
Al 6,667
(E)EE2EFAAY 3,000 0 3,000
= 3,000
401 AIEHI L 2 CHYI 3,000 0 3,000
= 3,000
01 AlZHI 3,000 0 3,000
OZdzdELXR 3,000,000& = 14 3,000
[ 3,000
(E)E2E=AANLEELHUEFEX 7,700 0 7,700
S 5,500
Al 2,200
401 AIEHIZ 2 CHYI 7,700 0 7,700




2H EXNELD
HE: NNSN(FELNGHL/NALTA)

Sl XF2e (S &2)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 5,500
Al 2,200
01 A& HI 7,700 0 7,700
OMN=AMESEHS XA 7,700,0008 » 14 7,700
< 5,500
Al 2,200
K ETHEAL AL 309,737 77,064 232,673
101 @14l 9,317 8,684 633
04 D12t Z22HEE = 9,317 8,684 633
OXETHEZALASY 212N
51,760& = 1€ = 180¢ 9,317
201 Let2d] 83,020 54,480 28,540
01 At 22l 72,940 46,920 26,020
OXNEWEAAY B 4,640
—MEXEXN Z0 S 120,000& * 123 1,440
—NEMHEZAMAMY EE2S HA
1,000,000 = 13l 1,000
— NETHEZALALE 2HUHE S M&
500,000& * 23 1,000
— KNEHEZALALY &2 W&
60,000& = 102 = 23] 1,200
OZHZ2ERE3 =4 70,0008 » 7H * 43 1,960
OXNEMEARARSE =<
70,000& = 5H « 43| 1,400
OZ&EEI =3 45,0008 * 3262 = 22HS A 29,340
O&H & EX(A0) e 250,0009 » 4&8tA 1,000
OCH EHEX(E2ldAaHEZZE) ¢
20,000& * 10=tA 200
O=® 228 226 93 7Y
1,000,000& * 1MIE » 23| 2,000
OAuto CAD 3D Map =208 ¢
9,000,000& = 24 18,000
OArcGIS =228 7Y 6,000,000& = 24 12,000
OXEMEAN EUHE L(HEXNIE HIEZE
DY MblA) 800,000& =« 3CH 2,400
02 =224l 10,080 7,560 2,520
O ZHI(NSSE D) | X 2=t
3,780,000& * 208 = 13 7,560
OHIEE Z2HtY NMHIA FSUHE 23
70,000& = 304 = 123l 2,520
401 Al HIZ 201 I 217,400 13,900 203,500
01 A& HI 200,000 0 200,000
OXETHZALALY Z=FZ 200,000,000 » 14 200,000
03 Al S HHI 17,400 13,900 3,500
OMNMAZXA RS 28 & 14,250




2H EXNELD
HE: NNSN(FELNGHL/NALTA)

el XX B2 (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— NHA2AE = 300,000& = 20& = 13 6,000
—NEE2E 55,000& = 150& = 13 8,250
OXETEAAIY =2 3,150
—X2UHANL EXNEE 280,000& = 5% 1,400
—XNZUHAS o2 350,000& = 5% 1,750
Al JF2el 177,627 181,580 AN 3,953
HE ZAIXIIJF R A 177,627 170,580 7,047
101 2121 d| 31,056 29,909 1,147
04 JIZtHI2E2XNSE S 31,056 29,909 1,147
OME Z2AI X ZAF 21822 31,056
— XIS EE Mo QA A EXNELHIA R
& 51,760& » 12¥ % 502 31,056
201 et | 146,571 140,671 5,900
01 At 22l ] 121,371 115,471 5,900
OXJIEH MAXE WA= 0 &
25,000& * 128tA 300
OZHHEIAN B3 ==& 88,081
- PIEES
42,000& = 170,000& XI/62& Xl * 50/100 57,581
—QAMEE EXNZES
42,0002 = 2002 Xl * 50/100 4,200
—0l2Ad EXES
42,0002 * 2002 XI ~ 50/100 4,200
— =28 g8 5 EXolsS2 2=
42,000& = 3,000 XI * 50% * 30% 18,900
—HLRED ME SDUYER 2TL22
2,000,000,000& = 8/10,000 * 23| 3,200
OogHE 25 =2 1,600,000& =* 53| 8,000
OEXSEY ZAIE & Z2H3IAM ®2
50,000& * 308rA 1,500
OXAU & 22X E ROl 50,000& * 302+ A 1,500
OMNE S AKX I AFEEAN SO
50,000& * 302+ A 1,500
OHgEsZ2 ot HES [z
100& * 10,0000H 1,000
ORXIIEZAL OHLY 28 28 10 &2 M
60,000 * 13004 = 23] 1,560
ORSHBIIAE Basy
70,000 = 12 * 63 5,040
OXIIEH EZ2H X (A0) 7
35,000& * 502 1,750
OXIIEH EZ2H L3 7 (4M)
40,0008 * 50= 2,000
OXNIEHEZH S X222l
250,000 = 1CH = 43 1,000




2H EXNELD
HE: NNSN(FELNGHL/NALTA)

S Xot2tel (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OREd At AN E NA =0
80& = 3,00000 = 2& 480
ORSASHG X AFE HM& & A} 2
22,0008 * 20H 440
ORSMEHY SAL WY 1,320
— 2SASHY SAL e ZAZ
250,000& = 1Y * 23] 500
—BESASHY SAL D=0 HE
6,000& x 120& 720
— 2SASHY SAML e #29 &
100,000& * 1A x 13 100
ORSHMSHIEA A E22 HIXWH 7
59,000& * 10000 2 5,900
02 33249l 25,200 25,200 0
ORIRSUAAY FH L ATEYN RN24
100,000& * 20CH = 12& 24,000
OIS AIAE NEF AH L AZTELN
SN L= 100,000& = 104 = 12& 1,200
HHSHHBH(EXELZ ) (IIEH/IIE) 91,380 101,880 A 10,500
Jl=23& bl 91,380 101,880 A 10,500
JlE23Hl 91,380 101,880 A 10,500
201 et A | 19,480 19,480 0
01 AFR2 2t 2l dl 19,480 19,480 0
OsAIEX F¢ 15,000& * 152tA x 128 2,700
OSZ20Adl 6,000& * 64! » 15H = 12& 6,480
Ogte2 100,000& * 128 1,200
OAx12 EAN7EHI 50,000& = 12& 600
O =464 7,600
— 2AD #2(4AE) 500,000& = 1CH 500
— Z2H %2 100,000 * 4CH = 50/100 200
—SAI EY 200,000& = 1CH = 53 1,000
— D2 EU(E8) 200,0008 * 404 * 53] 4,000
— Z2E EU(Ze2H) 200,0008 * 104 * 53 1,000
—PC =2l 100,000 * 15CH = 20/100 300
— J|EF #=2lH]| 50,000& = 12& 600
OJIEIAR 22l Y] 5,000& * 159 » 12& 900
202 (4] 56,700 56,700 0
01 2L Y| 56,700 56,700 0
OEXNEEN SR=&X bl 56,700
— 2L O B 20,000& = 159 * 12 « 12& 43,200
— 2204 H| 90,000& *» 15 = 10 13,500
203 PR =&H| 3,000 3,000 0
04 ENSHLRF=AH| 3,000 3,000 0




2M: EXNEE DN
M HEL2GIU(EXNZ L) (JIEHIIE
¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORM2IYRFLHI 250,000& = 12& 3,000
204 MR AH| 1,200 1,200 0
01 ¥R 1,200 1,200 0
ONMIALLBAY (EXNF L)
100,000& » 198 = 12& 1,200
405 RHoHE S HI 11,000 21,500 A 10,500
01 AL EFFHSHI 11,000 21,500 210,500
OXNAEANLD OlSAANI &
11,000,000& * 1CH 11,000




